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B.Com. DEGREE EXAMINATION, May 2015 

 (FIRST YEAR) 

(PART – III) 

140 / 540: ELEMENTS OF ACCOUNTANCY 

(Old Regulations) 
 (Common with B.Com (O.R), B.Com A&F (O.R), B.B.S / B.Com. B.S.(O.R),  

B.M.M / B.Com M.M(OR)) 
 

Time: Three hours                                    Maximum: 100 marks 

 

                                        Answer any FIVE questions                  (5 × 20 = 100) 
 

1. What are the methods of depreciation? Explain any two methods in detail.  

2. Krishna draws a bill of exchange of Vignesh for ̀ 12,000 on 1st March 2011 for two 
months. The bill was accepted and returned to Vignesh. On 7th March Krishna 

discounts the bill with his bankers at 10%. On the due date Vignesh dishonurs 
the bill and Krishna incures `200 expenses by way of noting charges. Vignesh 
agrees to pay `5,200 cash immediately and accepts a new bill for `5,000 for one 
month on the same date. 

The second bill was duly honoured. Pass journal entries in the books of Krishna 

and Vignesh.  

3. The following is the Trail balance of M/s Rajan Agencies as on 31.03.2014.  

 Dr. Cr. 

Capital and drawings 18,000 1,00,000 

Buildings 15,000 -- 

Furniture and fittings 7,500 -- 

Motor van  25,000 -- 

Loan from Arun @ 12% interest  15,000 

Interest paid on above 900  

Sales and purchases 75,000 1,00,000 

Opening stock 25,000  

Establishment expenses 15,000  

Wages 2,000 -- 

Insurance  1,000 -- 

Commission received  7,500 

Debtors and creditors 28,100 10,000 

Bank balance 20,000 -- 

 2,32,500 2,32,500 
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Adjustment: 

a) Closing stock as on 31.03.2014 was `32,000. 

b) Outstanding wages `500. 

c) Prepaid Insurance `300. 

d) Commission received in advance `800. 

e) Provide depreciation on Building 2 ½ % furniture 10% and motor van 10%. 

f) Charge interest on Capital 10% and charge interest on drawings `500. 

Prepare Final Accounts.  

4. A company purchased a building and machinery on 01.01.2011 for `15,00,000. 
The value of Machinery is ̀ 1,20,000. Depreciation is to be provided at 10% p.a. on 

written down value. Due to repairs in machinery at the beginning of fourth year it 
was sold for `35,480. Show the building and machinery account for four years.  

5. Ranjith of Calcutta sent a consignment of wool to Neeraj of Singapore costing 
`1,000. The invoice price was made by adding 25% to the cost. The expenses 

incurred by Ranjith were packing ̀ 24/-, carriage etc., `16/- insurance `12/- and 
other expenses `26/-. 

After 3 months he received on Account sales intimating half of goods sold for `900 
and expenses incurred by the consignee were freight `30/- fire, insurance by 

`18/- and other expenses ̀ 10/-. His commission was 6% on sales and delcredere  
commission 2%.     

6. Murugan is partner in a firm. He has withdrawn the following amounts from the 
firm for his private use for the half year ending 30th june 2010. 

 `   ` 

January 15 15,000  April 25 20,000 

January 28 20,000  May 2 15,000 

February 18 13,000  June 30 10,000 

March 15 7,000    

 Calculate the average due date and interest on drawings upon 30th June 2010 at 
6% per annum.  

 

jkpHhf;fk; 
 

vitnaDk; Ie ;J tpdhf;fSf;F tpilaspf;f (5  20 = 100) 

 

1. nja;khd Kiwfs; ahit? mtw;wpy; VnjDk; ,uz;L Kiwfis gw;wp 
tphpthf vGJf. 

2. fpU\;zh vd;gth; tpf;nd\; kPJ %12/000 f;F 2 khj khw;Wr; rPl;oid  
khh;r; 1/ 2011 md;W vGjpdhh;. tpf;nd\; mjid Vw;W fpU\;zhtpw;F 
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jpUg;gp mDg;g[fpd;whh;. khh;r; 7e; njjp ,k;khw;Wr; rPl;oid fpU\;zh 

t';fpapy; 10%f;F js;Sgo bra;fpwhh;. Kjphptpd; nghJ tpf;nf\; ,k;khw;Wr; 
rPl;oid kWf;fpwhh;. Fwpg;g[ fl;lzk; %.200 fpU\;zh brYj;Jfpwhh;. 
tpf;nf\; cldoahf %.5/200 buhf;fk; bfhLj;J xU g[jpa khw;Wr; rPl;oid 
%5/000f;F xU khj jtizf;F md;nw Vw;fpd;whh;. 
 ,uz;lhtJ khw;Wr;rPl;L Vw;Wf;bfhs;sg;gl;lJ. ,jw;fhd 
Kjw;Fwpg;ngl;Lg; gjpt[[fis fpU\;zh kw;Wk; tpf;nf\; VLfspy; vGjt[k;. 

3. ,uh#d; ypkpbll;oy; ,Ug;g[r; nrhjid 31.03.2014. md;W fPH;f;fz;lthW 
,Ue;jJ. 

 gw;W tut[ 

_yjdk; kw;Wk; vLg;g[ 18,000 1,00,000 

fl;l';fs; 15,000 -- 

miwfyd;fs; 7,500 -- 

nkhl;lhh; ntd; 25,000 -- 

mUzplkpUe;J fld; 12% tl;o tpfpjj;jjpy;   15,000 

nkw;fz;l flDf;F tl;o brYj;jpaJ 900  

tpw;gid kw;Wk; bfhs;Kjy; 75,000 1,00,000 

bjhlf;f ruf;F 25,000  

epWtd bryt[fs; 15,000  

Typ 2,000 -- 

fhg;gPL 1,000 -- 

js;Sgo bgw;wJ  7,500 

fldhspfs; kw;Wk; fldPe;njhh;fs; 28,100 10,000 

t';fp ,Ug;g[ 20,000 -- 

 2,32,500 2,32,500 

rhpfl;ly;fs; : 

 m) ,Wjp ruf;fpUg;g[ 31.03.2014 %.32/000. 
 M) Typ epYit ghf;fp %.500. 
 ,)  Kd;Tl;o brYj;jpa fhg;gPl;Lf; fl;lzk; %.300. 
 <)  Kd;Tl;ona bgw;w js;Sgo %.800. 

 c)  fl;olj;jpd; kPjhd nja;khdk; 2½ % miwfyd; 10% nkYk;  
                 nkhhl;lhh;ntd; 10% MfpaitfSf;F tif bra;f. 
 C)  _yjd tl;o 10% nkYk; vLg;g[ kPjhd tl;o %.500 ,Wjpf;  
                 fzf;Ffis jahh; bra;f. 
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4. 1.1.2011 md;W xU epWtdk; fl;olk; kw;Wk; ,ae;;jpuj;ij %15/00/000 f;F 
th';fpaJ. ,ae;jpuj;jpd; kjpg;g[ %.1/20/000 MFk;. Fiwe;jbry; ,Ug;g[ 
Kiwapy; nja;khdk; 10% tPjk; fzf;fplg;gLfpwJ. ehd;fhk; Mz;L 
Muk;gj;jpy; ,ae;jpuk; gGjile;jjhy; %.35/480f;F tpw;fg;gl;lJ. ehd;F 
Mz;LfSf;fhd brhj;Jf; (fl;olk; kw;Wk; ,ae;jpuk;) fzf;ifj; jahh; 
bra;f.  

5. bfhy;fj;jhtpYs;s ,u";rpj; rp';fg;g{hpYs;s ePu#;#pf;F %1/000 kjpg;g[s;sr; 
ruf;Ffis mDg;gPL Kiwapy; mDg;gpdhh;. mlf;f tpiynahL 25% 
,yhgk; Tl;o ,lhg;g[ tpiyf; Fwpf;fg;gl;lJ. ,u";rpj;jpd; bryt[fshtd. 
fl;Lkhdk; %24. J]f;Ff;Typ %.16 fhg;gPL %.12 ,ju bryt[fs; %.26. _d;W 
jp';fSf;Fg; gpd;dh; mth; xU mDg;gPl;L fzf;fwpf;ifiag; bgw;whh;. 
mjd;go ghjpr; ruf;Ffs; %.900f;F tpw;fg;gl;ld vd mwpe;jhh;. 
mDg;gg;bgWehpd; bryt[fs; : rj;jk; %.30 jPf;fhg;gPL %.18/ ,ju bryt[fs; 
%.10 tpw;gidapy; 6% rhjjhuzf; fHpt[k; 2% gpizf;fHpt[k; bgw;wpl 

mtUf;F chpika[z;L. 
6. KUfd; xU epWtdj;jpy; Tl;lhsp/ 30.06.2010 Kot[s;s miu Mz;oy; 

mth; jd; brhe;j brytpw;fhf vLj;Jf;bfhz;l bjhif fPnH 
jug;gl;Ls;sJ. 

 %   % 

#dthp 15 15,000  Vg;uy; 25 20,000 

#dthp 28 20,000  nk 2 15,000 

gpg;uthp 18 13,000  #Pd; 30 10,000 

khh;;r; 15 7,000    

ruhrhp jtiz njjpiaf; fhz;f. Mz;blhd;Wf;F 6% tl;o fzf;fpLf. 

$$$$$$$ 


